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L'échiquier du pharaon

e Compléte le tableau suivant :

Nl;méro = Nombre de grains de riz Numero de Nombre de grains de riz

a case la case
| | 33
2 2 34 e
3 4 35 e,
4 8 36 |
5 16 37 e
6 32 38 )
7/ 64 39 e,
8 128 40 549 755 813 888
9 256 4] 1099 511627776
10 | 42
| 43
12 | 44 e,
13 | e N
14 | 46 e
15 | 47 e,
16 | 48 e
17 | 49 281 474976 710 656
18 | 50 562 949 953 421 312
19 SN K
20 | Y B
21 | O3 |
22 . L S
23 | 55 18 014 398 509 481 984
24 | 56 |
25 | YA
26 | 08 |
27 | LA
28 | e 60 e
29 | X N [T
30 | e Y
31 1073741 824 X R [
32 | 64 e




